DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY LONERE =
RAIGAD -402 103 S

Semester Examination - Nov - 2019‘ g S/
Branch: Electronics and Telecommunication > Sem IV
Subject:- Electrical Machines and Instruments (BTESC401) “““ Marks. 60
Date:- 26/11/19 = S P Tlme‘ 3 Hr

Instructions to the Students
1. Each question carries 12 marks.
2. Attempt any five questions of the followmg
3. Illustrate your answers with neat sketches, diagram ete: wherever necessary,
4. If some part or parameter is noticed to be mlssmg, youmay- approprrately
assume it and should mention it clearly D

Marks
Q.1 ‘ ‘
a) Derive the e.m. f equatlon of the d.c: machrne State. clearly the meaning 6
and units of the symbols used. : :
b) A220Vdc shunt machine has an armature resistance of O 5 ohm. If the 6
full load armature current is 2OA ﬁnd the 1nduced emf when the machine
acts as <1, Generator 2, Motor e
a) What are the dlfferent methods of speed control of 3-phase induction 6
“motor? 7
b) Explam the constructron of synchronous generator 6
Q3 o ‘
a) Explam the Workmg prmcrple of permanent magnet stepper motor. 6
Sab) Explaln the operatlon of a 2= phase Varlable reluctance motor. 6 -
Q4
‘ a). Explaln the. prrnc1ple workmg and construction of LVDT. What is meant 6
(F by residual voltage? -
D) A platinum thermometer has a resistance of 100Q at 25c. Find its 6
7 resistanceat65c if the’platinum has a resistance temperature coefficient
S of 0. 00392/’C
Q5
e a) ‘Explam d1fferent methods for measurement of thickness. 6
“ b) - Write a short note on: Digital tachometer. 6
v la) - Give classification of recorders. 6
“b) Explarn with neat diagram galvanometer type strip chart recorder. 6

Paper End
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Dr. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE - 402 103

Winter Semester Examination- Nov. 2019

Class: B. Tech. EXTC (Second Year)

Sub: Analog Communication Engineering (BTEXC402)
Date:28/11/2019

Sem: IV

Time: 3 Hrs.
Max. Marks:. 60

Instructions to Candidates:

1) Attempt any five questions.

1) - Illustrate the answers with neat sketches, diagram. etc wherever necessary
2) Necessary data is given in the respective questions, If such data is not glven it-means
its knowledge is a part of examination. ‘ B
3) If some part or parameter is noticed to be missing, approprlate data may be assumed

and should be mentioned clearly. :

%

QlA

Define communication, Draw and explam basic block dlaofram of
communication system.

Define modulation; Explain the need of modulahon n dcta1l

For an AM wave with a peak unmodulated cartier voltage Vo= » lOVp,'a

load resistance R = 10Q; and modulation index = 1, determine .
a. Powers of the carrier and the upper and lower 51debands
b. Total sideband power:. :
c. Total power of the modulated wave -
d. Draw the power spectrum L

Repeat steps (a) through (d) fora modulatlon index m=0.5.

Calculate the percentage power saving when the carrier and one of the
sidebands are suppressed in.an AM wave modulated toa depth of (a) 100
percent and (b) 50 percent ' '

Draw the block diagram for an Armstrong mdlrect FM transmitter and

“descrlbe its operatlon
D Compare narrowband and wideband FM.

~ With the help of neat block diagram’ explam ﬁmctlonmg of a super heterodyne
- ireceiver list out significance. <

‘EXplain the performance characteristics of receiver.

: Explam the hnear dlode (envelopc) detector with detail circuit diagram and
' characterlstlcs r

~With neat circuit dlagram and ‘necessary equations, explain the phase difference
* discriminator ratio detector

An amplifier has a noise figure of 4 dB, a bandwidth of 500Hz and an input
resistance of 500 Calculate the input signal voltage needed to yield an output

~SNR =1 when the-amplifier is connected to a signal source of 50Q at 290K.

Define noise. Explain the classification of noise in detail.
Paper End
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY,‘ LONERE -
RAIGAD -402 103 T
Winter Semester Examination(Supplementary) - Nov -2019

Branch:- Electronics & Telecommunication : ‘ e ‘ % o \Se‘in.“:-;IV 'f |
Subject with Subject Code:- Microprocessor (B’.l‘“‘l*?XCét‘OS‘)'1i o Marks-60 o
Date:-30/11/2019 . Time3Hn S5y

Instructions to the Students
1. Each question carries 12 marks. ‘ ‘ ,
2. Attempt any five questions of the following. ‘ e WP T S e :
3. Illustrate your answers with neat sketches, diagram etc., wherever necessary.. - e
4. If some part or parameter is noticed to be missing, you may approptiately assume it and should
mention it clearly S e A S

Explain memory write cycle for 8085 with suitable waveform. (©6)

W

Explain types of interrupts.

N A S 6
How multiple interrupts are handled in microprocessor with Programmable (6)
TInterrupt Controller (PIC) 82597 Explain with suitable interfacing diagram.

A Explain internal architecture of 8085 with neat diagram. =« = = 8)
B What is addressing mode? Explain addressing modes of 8085 with example. @
A Explain Arithmetic group of instructions in'8085 with examples? 6)
B

Q

A

B

Qi Al e S
A Explain pins function of following in defail (6)
C L DALE GDHOLD v oS
B Write assembly program for 8085 to add the 16-bit number in memory locations 2501H  (6)
S and 2502H to the 16-bit number in memory locations 2503H and 2504H. The most
7 Usignificant eight bits of the two numbers to be added are in memory locations 2502H
© 7% .and 4004H. Store the tesult in memory locations 2505H and 2506H with the most
. significant byte in memory location 2506H.
- A7 Explain Programmable Interval Timer with block diagram. (6)
"B . What is stack memory? Explain PUSH and POP operation using suitable diagram. (6)
Q6.
A’ “Explain detailed Architecture of 8086. : ®
B “What are Assembler directive? Explain with example. @)

| ***%**#;’:*%*********A“ The Best*******************************7‘:*7’:*
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY

LONERE — RAIGAD -402 103
Supplementary Winter Examination — December - 2019

Branch: Electronics and Telecommunication Engineering,:-
Subject:- Signals and Systems (BTEXC404)
Date:- 02/12/2019

“‘~S.em.‘:-IVV
-~ Marks: 60
- Time:-3 Hr.

Instructions to the Students
1. Each question carries 20 marks.

2. Attempt any five questions of the following. : o .u

3. Tllustrate your answers with neat sketches, dlagram etc. wherever necessary :
4. If some part or parameter is noticed to be mlssmg, you:may approprlately

- assume it and should mention it clearly :

o

Q.1.
Q.1.

Q2.

o5

a)

b)

g :“ (Marks)

Prove the following: | S8
1. Even signal x Even s1gnal ‘Even signal
2. Odd signal x Odd signal = Even signal
3. Even s1gnal_ x Odd 51gna1 Odd s1gnal

Determine whether the followmg system is hnear or. not
L y(0) =n.x(t) S »
2. y(n) =x(n)
3. y(n) “2 x(n) 3

1) Determme and sketch COHVOlutlon of the followmg two signals:
‘x(t) ‘ -l<t<1 ‘ '

= 0 0therw1$e

o :h(t) < Sk 8(t+1) + 26(t+2)

e _(11) compute convolutmn of the followmg signals:

b)‘

y(n) = u(n) * u(n)

. Wr1te anoteon -

1. causahty for LTI system
RN Stablhty for LTI system

(06)

(06)

(06)

(06)

(06)

9F03528824E80F025CFED23384336FC3




Q.3.

Q.3.

Q.4.
Q.4.

Q.5.

Qs

Q6.

Q6

b)

b)i

For x(¢) an even signal i.e. x(¢) = x(-t), prove that the trigonometric - (06)
Fourier Series coefficients become,

2 ~Ti2
Qo :?] x(t)dt
o

T
b, =0

4 T(’Z
ay = —f x(t) cos(nwyt) dt
0

State and prove any five propertles of Contmuous tlme Fourler (06) :
series. -

Find the Fourier transform of the unit s‘tep function u(®). . - (06)

Find DTFT of the following se‘q\u‘eﬁce, | LR SEs (06)
x(n) = a" u(n) where |a|<1. : A

Also find rnagnltude and phase of the DTFT

Determine the mverse Z- transform of the followmg function using (06)

power series expanswn (long division) method.: Y
| X(z) 1/(1 0521) |z|>05 O

A causal dlscrete LTI system is’ descrlbed by: the following equation, (06)

Y1)~ B3/A)y(n-1) + (118)y(n-2) = x(n)
where x(n) and y(n) are the mput and the output of the system
respectively. Determine - the system: transfer function H(z) and

: 1mpu1se response h(n) of the system

A card 1S drawn at random form an ordinary deck of 52 playing (06)
,’cards Find the probablhty of its being (a) an Ace (b) a six or a Heart
(V) neither a Nine nor a Spade.

In a factory, four machines A1, A2, A3 and A4 produce 10%, 20%,  (06)
: 30% ‘and 40% of the items, respectively. The percentage of defective
jtems produced by them is 5%, 4%, 3% and 2%, respectively. An

item’ selected at random 1s found to be defective. What 1s the

‘ probablhty that it was produced by the machine A2?

Paper End
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DR. BABASAHEB AMBEDKAR TECHNOL‘OGIC‘AL Saase
UNIVERSITY, LONERE — RAIGAD -402 103
Supplementary Winter Semester Examinations: Dec- 2019

Branch: Electronics and TelecommunicationEngg. =~ .0 o Sem. -IV s a e

Subject:-Numerical Methods and Computer Programmlng (BTBSC406)

Marks:60 Date:04/12/2019 - Time-3 Hr. |

Instructions to the Students

1. Each question carries 20 marks. L Sk 57/‘ SN &
2. Attempt any five questions of the following. LA s e S

3. Hlustrate your answers with neat sketches, dlagram etc.; wherever: necessary
4. If some part or parameter is noticed to be mlssmg you may appropnately
assume it and should mention it clearly :

(Marks)

Q.1. Solve the following questions (Any 3) |
a) Define errors. How many dlfferent types of errors occur whlle @)
doing numerical computatlons" How they can be avonded"
b) Explain in short about error propagatlon & error estunatlon. “4)
¢) Round off the number 865250 & 37 46235 correct up to four 4)

Significant ﬁgures and find absolute error, relatlve error and
percentage error in each case. | ‘
d) Find absolute error if the number X— 0 00599826 is
i) Truncated to 4 declmal digits - o
ii) Rounded off to 4 dec1mal dlglts N 4)

Q.2. Solve the followmg questlons (Any 2)
a) i) Apply False-posmon method to find the smallest positive root 3)
of the equatlon correct to three decimal places. x — e ™*=0

n) Fmd a pos1t1ve root of xeJr = 2 by the method of false position. (3)

b) Us1ng Newton-Raphson method find the real root of the equation
3x = cosx + 1 correct to four decimal places. (6)

c) Apply the Jacobl method to solve: Continue iterations until two
successive apprOXImatlons are identical when rounded to three (6)
| slgnlficant digits.
Gl O 5x1 —2x2+3x3=-1
3x1 +9x2+x3=2
2x1-x2-7x3=3

9F03528824E80F025CFED233849C1903




Q.3. Solve the following questions (Any 2)

a) The following table gives the scores secured by 100 students in : (6) T
the Numerical Analysis subject: : I INCr
Range of scores: 30-40 | 40-50 | 50-60 | 6070 | 70-80 |
Number of students: 25 35 | 22 | 11 LA 7.0

Use Newton’s forward difference 1nterpolat10n formula to ﬁnd
~ (i) the number of students who got scores more than 55.

(ii) the number of students who secured scores in the range between
36 and 45. &

b) Find the cubic spline approxnmatlon for y— f(x) polynomlal wh1ch

takes the following values Also ' yo” W 3,?_ GG EGE ©
y=ix) 1 RSP JEa D
) Fit the curve of type y = a+ bxz that fits the followmg data (6)

Q4 Solve the followmg questlons (Any 2)
a) Evaluate f dx /(1 Y xz) by usmg ©
- i) Simpson’s 1/3 rd Rule | o
ll) Slmpson s 3/8 th Rule s ¢
lll) Tl'apezmdal rule SRS
b) leen that dy / dX = 10g10 (x +y) with the initial condition (6)

v that y=1 When X = 0 Fmd y for x=0.2 and x = (.5 using Euler’s
[ modlﬁed formula B ‘

, c)leen dy /dx -y X y(0) 2. Find y(0.1) and y(0.2) correct to

four deelmal places (use both IT and IV order methods). 6)

9F03528824E80F025CFED233849C1903




Q.5 Solve the following questions (Any 2)

a) Explain all operators in C++ with examples, S : (6) e

b) Explain basic concept of object oriented programmmg

Also write benefits & applications of OOP e b (6) o

¢) Explain the concept of Function prototyplng and functlon FRERRR
overloading with the help of C++ example e SEY S ()

Q.6 Solve the followmg questlons (Any 2)

a) Explain classes in C++? What does a class in C++ holds? (6)
Explain in brief derived classes Vlrtual base classes, Abstract
classes, Member classes. .~ ~

b) What is 1nher1tance" What are the dlfferent types of 1nher1tance"
Draw the block diagram of each: type of mherntance" 6)
Explain any one type of 1nher1tan_ce 1n detall

¢) Write and explam a program for overloadlng of unary operator
to overload mlnus(-) operator S S 6)

Paper End A

9F03528824E80F025CFED233849C1903







Dd900VVI6LOLEYHOILETI001 0AEY ATOH

S

14! “BuImofoy ay) Jo 31} Aue .EES.:« s )
(6+25)(5-9) b
b sisAfeuy M vosTh g W‘T‘N P (g
: 1= (004
¥ uopedddy 0= (0L 3us,_a = A5 + A7 + ,,£ 9108 utogsues doedery Juisny.| (O
(1+5)$ L , . . )
Ly siskfeuy () 8ot = () f ooum {(s) fr-10ud | (g
m b :e.:«u:nn«« ﬁfamﬁamw 17 puy waroay) :ocioéoo Juisny v
4! -Surmof(of 1) yo a9y Aue ydwopyv | 7D
7 ! El o% Hmm PAD ULIO mc.«b aoepde] Susny
4 uoneneAy P Tours 07 o [BAS 24 T ! O
(D1 pud
. uUZ SIS U Uy
. siskjeay -1z pouad g vonoung orpousad st - T 70 T 0 w =M Al (g
Loy siskfeuy m np nysor 52 Mq J\Emeow T P | (v
DT Sumopioy ayp ydundyy | 170
' opep | (00/19A9T)

“A14D310 11 UOUUI U PUD KIDSSDIIU APADLDYM DIDP D]GDINS JUNSSY “F
PIROLID S1 SLOIDINILD Iua1os ajquuipi30sd-uou fo 95} £
‘uo1Isanb ay) fo joaf u () ul pauonuai s1 pasoq s1 uoHSanb ay1 YoM
U0 ((9D) SUONNY 35407y Y. L0 YO 42d SO 4dmMSUD papradxamonsanb jaaag ay '
Suimoprof ayy fo ;o suonsanb FALL ANV 24108 T
:SIAPMS 1Y) 01 SIHOPINAISUT

M € suoneIn(y 6107/21/0T 33ed
go e . ([0£DSILY) NI-sdneuRgie SuLpouiSug dureN 399{qng
U RUEN . o1 423 ], g :38ino)

61027 13UIAA — HOBRUIIMEX ] J9)SAWIS puy
TAANOT
‘ALISYAAINA TVODOTONHOAL YVIAIAINY gIHVSYEVE dd

wee




i

= - : = < — . Py o - ¢ sinmzZ+coswz? i Evaluation
A) Express the function f(x) = MmE um. MVIM =7 a5 a Fourier sine integral Evaluation 4 ‘ A) | Use Cauchy’s integral formula to evaluate %n m:_@l: ey dz, where Cis
: and hence evaluate that .ﬁsmﬁﬁh dA. the circle [z} =
i : . E z2_ i rsi
- B) | Find the poles of function .|.I.|||@+MVN Mmtz . Also find the residue at each pole. Analysis
B) | Using Parseval's identity for cosine qg&.oﬁ:. evaluate ) Application | 4 O) | Byaluate %n £ dz , where C is the unit circle |z] = Evaluation
: %8 dx - o , *%% Paper End ***
! 0 (x*+a?)(x*+b?) :
O x, 0sx<1 : Analysis 4
: Find the Fourier sine transform of f{x) = {2—x, 1 <x <2.
0, x> 2
B -as T .
D) IFE{f(x)]} = e - . 3 : . Analysis 4
transform of w . -
Q.4 - | Attempt any three of the following: 12
A) | Form the vmz_m_ differential equation by &:::Snsm arbitrary function \ Synthesis 4
from f{x? +y% + 2%, 3x + 5y +7z) =
B) | Solvepz—qz=2z+{x+y)* - B - Application 4
N .
© Unaazzo the mo_czon of one 953&05& heat ancwaos — l,m~ wau where | Analysis 4
the boundary conditions are 1(0,¢t) = 0, u(l,t) =0 (¢t > 0) and the
initial condition u(x, 0) = x; I being the length of the bar.
D | Use the method of separation of variables to solve the equation Application 4
M«. = N.I + u, given Eﬁ:@‘ 8 = fe 3%
Q.5 | Attempt the following. 12
A) | Determine the analytic function £(2) i in terms of z whose real part is Analysis 4
sin2x
cosh2y—cos 2x
B) | Prove that u = x2 ~ y? — 2xy — 2x + 3y is harmonic. Find a function v Analysis 4
such that f(2).= u'+ iv is analytic.
C) |'Find the bilinear transformation which maps the points z = 0, ~1, —i onto Analysis 4
the points -w. = i, 0, %. Also, find the image of the unit circle {z[ = 1.
Q. 6 | Attempt.the following. 12

EC2FA3DO0100FD3760E4B79796AACO6EC EC2FA3D0100FD3760E4B79796AACO6EC



DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE -
RAIGAD -402 103
Winter Semester Examination - Dec. - 2019 5)(

/

Branch: Electronics and Telecommunication Engineering Sem.:- I11
Subject:- Analog Circuits (BTEXC302) ‘ Marks: 60
Date:- 12/12/2019 Time:-3 Hr.

Instructions to the Students
1. Each question carries 12 marks.
2. Attempt any five questions of the following,
3. Ilustrate your answers with neat sketches, diagram etc., wherever necessary.
4. If some part or parameter is noticed to be missing, you may approptiately
Assume it and should mention it clearly

(Marks)

Q.1.A) | Draw the block diagram of an-op-amp and explain the necessity and 6
implementation of each block.

B) | Derive the expressions for gain, inputimpedance, output impedance of 6
the voltage series feedback configuration.

Q.2.A) | Draw and explain the circuit diagram of an instrumentation amplifier 6
and derive the output equation,

B) | Draw and explain the working of a practical differentiator circuit 6
including its derivation.

Q.3.A) | Draw and explain circuit of a square wave generator. Design a square 6

wave generator for afrequency of oscillation of 1KHz. Assume Vsat=+
14V. i

B) | For the inverting Schmitt trigger shown below. Calculate UTP, LTP, 6
hysteresis with. Draw.input and output waveform.

, PEv
NS
g fiome K\‘—\L)‘w
j f,f»:)" | pEe
WORE Mo | 4
2N "%.Wg A o J§ A
m;{} - b \\\x y w&m
‘ ‘ Q3 I i
£y E&.‘%ﬁi‘;m&M
Q:4.A) | Draw and explain the working of a 3bit -binary weighted resistor DAC. 6
B) | With suitable diagram explain the working of a successive 6

- approximation convertor,

C7B584B90A6F2E4613757AB6D11F593C




Q.5.A)

Draw the circuit of a Wien Bridge oscillator using op-amp and derive'an |
equation for frequency of oscillation.

B) | Derive the frequency expression of hartley oscillator is constructed with
operational amplifier shown below and feedback LC network. By
referring the given values determine the operating frequency and
maximum acceptable value of resistance R for oscillations to start:

1060 KQ
AN
+Vee
R
AMNN - Output
‘ O
T
- Ve
R L1
Mg aas g™ et
0.1 uH 1pH
S 1
11
il
. C
Q.6.A) | Draw the circuit of 1% order low pass butterworth active filter and derive
the expression for its gain

B) | Draw the circuit of 1% order bandpass butterworth active filter and derive
the expression for its gain

C) | Design a first order:low pass filter w1th high cut- off frequency of 1 kHz

and pass band gaih is 3

Paper End

- C7BS584B90AGF2E4613757AB6D11F593C




DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY,
LONERE - RAIGAD -402 103

Winter Semester Examination — December - 2019 57
Branch: Electronics and Telecommunication Engineering Sem.:- 111 /
Subject :- Electronic Devices & Circuits (BTEXC303) | Marks: 60

Date:- 14/12/2019 Time:-3 Hr.

Instructions to the Students
1. Each question carries 12 marks.
2. Attempt any five questions of the following.
3. Illustrate your answers with neat sketches, diagram etc., wherever necessary.
4. If some part or parameter is noticed to be missing, you may appropriately
Assume it and should mention it clearly

(Marks)
Q.1.A) Draw and explain contraction of n channel JFET and Compare Common 6 '
source, common drain, and common gate configuration of JFET.
B) Explain the VI characteristics of JFET. What factors are responsible for 6
the shape of the characteristics in a different region? :
Q.2.A) Explain n channel enhancement MOSFET and Datasheet for n channel 6
EMOSFET specifies the following parameter, Vs=10V, Ipn)-500mA, if |
Vsithy for MOSFET is 1 V, determine the drain current for Vgs=4V?
B) Explain CMOS invertor with circuits. And draw & explain characteristics of 6
CMOS invertor.
Q.3.A) Compare class A, class B, class AB, class C and class D amplifier. 6
B) Draw the circuits of voltage series feedback amplifier and derive the 6
expressions for input impedance Ris.
Q.4.A) With a neat diagram, explain hardly oscillator and derive an expression 6

for the frequency of oscillation. Find the frequency of oscillation if-
L1=L2=10 mH and C=0.1 pF.

B) With a neat diagram, explain the RC phase shift oscillator and derive an 6
expression for the frequency of oscillation. And Calculate the value of C1
= (2 for the Wien bridge oscillator to operate at a frequency of 20 kHz.
Assume R1 =R2 =50 k and R3 =3, R4 = 600?

Q.5.A) Draw and explain internal block diagram of IC 555 and explain the 6
working of Astable multivibrator
B) Draw and explain a Monostable and bistable multivibrator. 6
Q.6.A) ‘Differentiate SMPS with linear regulated power supply 4
B) Find the % load regulation of a power supply providing 100V unloaded 4

‘and 95V at full load.

C) Draw and explain the working principle of IC LM317 V 4

C7B584B90AG6F2E4613757AB6D17F9481







DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE
RAIGAD -402 103

Winter Semester Examination - December-2019. : _g >/
Branch: Electronics & Telecommunication Engineering Sem - III
Subject with Subject Code:- Network Analysis (BTEXC304) ~Marks: 60

Date:- 17/12/2019 | : Time:- 3 Hr.

Instructions to the Students
1. Each question carries 12 marks.
2. Attempt any five questions of the following. PO S
3. Tllustrate your answers with neat sketches, dlagram etc wherever necessary.
4. If some part or parameter is noticed to be mlssmg, you may appmprlate]y
assume it and should mention it clearly S <

SN 3. e ' (Marks)
Q.1. a) State Kirchoff’s laws for: electrlc 01rcu1t ‘Also Fmd the current ﬂowmg (06)
through 4 Q resistor usmg source transfortnatron and shifting in
following circuit.

5Q 40 20
MW MN AWy
50£0° 26.25/-66.8°
% j20 = -0

b). Find the value of load, 1mpedance ‘Ze> for which power transfer is (06)
- maximum in following circuit for w. =400 rad/s & also value of max
- power transferred to the load.
200) 12.5mH
APy .

|
20£60° | ™ 10kQ 0.4F L

Q&.-szt‘:;;;‘::f:ia) Detine and derive an expression for bandwidth of series resonant circuit.  (06)

C7B584B90A6F2E4613757AB6D1F8F7B6




For the network shown below, S (06) :‘ £,

where R;=10 Q, L= 0.5H, C= 20uF, determine its resonant frequency,

minimum admittance, quality factor, bandwidth, upper and lower half
power frequencies.

= 20uF

B

For symmetrical T network, derive an‘expressions series and shunt arm (06)
impedances in terms of characterlstlc 1mpedance and propagation
constant.

Design a constant -k LPF to be terminated. in 600 Q, having cut off (06)

frequency 2KHz. Find characterlstlc 1mpedance & Phase constant at
1.5KHz. : N e

In the circuit shown in ﬁgure below, the sw1tch is changed from 1 to 2 at  (06)
t=0, Determine initial condltlon of i, di/dt, d?i/dt> at t = O+

1000Q 2H
f\M{ A

o 0D

10V —

b) For seriesc RLC c1rcu1t (as shown in figure below), the capacitor is (06)
5 1n1t1ally charged to lvolt find the current i(t), when switch k is closed at

= 0 Usmg Laplace transform.
K

T

2Q

1v C€==0.5F L34H

C7B584B90A6F2E4613757TAB6D1F8FTB6




B

R

Q.5. a) For network given below, determine its h parameters and  verify (06) .
condition for reciprocity.

b) Find Z parameters in terms of Y and h parénﬁéter fOf ‘tii/ci port ﬁetWOrk. : ” (06)

Q.6. a) Derive an expression for Zo for a transmlssmn lme termmated in Zo 0 (06)

b) A S0Q lossless transmission line of length 1.37 X which is termmatmg (06)
into load of (200 + j80) Q. Using:Smith Chart find the input impedance

of line, reflection coefﬁcnent in amphtude and phase and standing wave
ratio.

_ Paper End: oo

C7B584B90A6F2E4613757AB6D1F8F7B6
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Instructions to the Students
1. Each question carries 12 marks.
2. Attempt any five questions of the following. :
3. lllustrate your answers with neat sketches, diagram etc., wherever necessary.

4. If some part or parameter is noticed to be missing, you may appropriately
assume it and should mention it clearly

Q. No. 1a) Design Four bit Binary to Gray Code Converter. ‘ (06)
b) Implement the three-variable Boolean function:
F(A, B, C)= A.C+A.B.C+A.B.C using 8-to-1 multiplexer. (06)
Q. No. 2a) Convert T Flip-Flop to D Flip-Flop. ~ (06)
b) Design a three bit synchronous Up/Down counter using JK Flip-Flop. (06)
Q. No. 3a) Design a sequence detector to detect the sequence .......... 110......... (Use
Mealy Machine with JK FF), ' (06)
b) Derive the state table & state diagram for the sequential Moore circuit
show_r;_below ) _ R (06)
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Q. No. 4a) E;;ﬁ]éin the various characteristics of Digital IC’s. (06)
b) Draw the circuit diagram of two input TTL NAND gate with Totem
pole output and explain its working. (06)
Q. No. 5a) Implement the following Boolean function using suitable PLA.
F(A,B,C.D)=3Y m(3,4,5,7, 10, 14, 15) (06)

b) Draw the interfacing diagram showing the interface of four memory
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integrated circuits each of size 2K x 4 bits to get the desired memory size

of 4K x 8 bits. - (06)
Q. No. 6a) Write down VHDL code for full adder using Data flow model with
necessary diagram. ~ (06)
b) List the various advantages and featuresof VHDL, . . = . (06). . |
Paper End.
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